PART-A (GENERAL KNOWLEDGE)

The first temporary president of Constituent assembly 1.

was:
{(A) Dr. Bhim Rao Ambedkar
(B) Sardar Vallabh Bhai Patel
(C) Dr. Rajendra Prasad

(D) Dr. Sachidanand Sinha

Which among the following was the major demand of
the Bardoli Satyagraha (1928) organized under the
leadership of Sardar Vallabh Bhai Patel?

(A) Rollback of newly enhanced revenue rate

(B) Supply of agricukiural Inputs to farmers at subsidizad rate
(C) Land to the tiller

(D) Increase the rates of labour wage

During the time of which Mughal emperor did the
English East India Company establish its first factory
In India?
(A) Shahjahan
(C) Akbar

(B) Aurzngzeb
(D) Jahangir

Find the incorrect statement:

(A) Full moon occurs when the moon comes between the
Earth and the Sun

(B) The difference in minutes between the Greenwich
time and the local time at a place can be derived by
multiplying the longitude of place by four

(C) Spring lide is caused by the gravitational pull of the
moon and the sun together in the same direction

(D) A line on a map that join all the places of the same
height above sea level is called contour line

The refractive indices of Kerosene, Turpentine and
water are 1.44, 1.47 and 1.33 respectively. Light will
have maximum speed in:

{(A) Water

(B) Spe=dremains same forall

(C) Kerosene

(D) Turpentine

Who is credited with the discovery of Electron?
(A) James Chadwick

(B) Rutherford

(C) E. Goldstein

(D) J.J. Thompson

Which of the following gases are given out during
photosynthesis:

(A) Nitrogen

(B) Hydrogen

(C) Oxygen
(D) Carbon dioxide

What is the script of Ashoka's inscriptions:

(A) Gurumukhi
(B) Hieroglyphics
(C) Dev Nagri
(D) Brahmi
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Which of the following articles of Constitution says
that the executive power of every state shall be so
exercised as not to impede or prejudice the exercise of
the executive power of Union?

(A) Arlicle 258
(8) Article 355
(C) Article 356
(D) Aricle 257

The distance between the Earth and Sun Is grealest
during:

(A) Winter Solstice

(B) Aphelion

(C) Perihelion

(D) Summer Solslice

Who is the General Secretary of CPI (M)?

(A) Suravaram Sudhakar Reddy
(B) Basudev Acharia

(C) Prakash Karat

(D) None of these

The central Government on 1% Jan, 2013 launched the
pilot phase of direct cash benefits transfer scheme.
Under thie scheme the cash will be directly transferred
to the intended beneficiaries through:

(A) Permanent Account Nurrber linked Bank Account
(B) Voter | D linked Bank Account

(C) Aadhar-Linked Bank Accounts

(D) Ration card linked Bank Accounts

Identify three leader states in wind energy among the
following:

(A) Maharastra, Odisha, Bihar

(B} Maharastra, Madhya Pradesh, West-Bengal

(C) Bihar, Jharknand, Uitar Pradesh

(D) Tamilnadu, Maharastra, Guijarat

Or Montek Singh Ahluwalia said recently that the term
“Bimaru” states should be dona away with, Which
states was/were termed as Bimaru states?

(A) Bihar, Jharkhand, Uttar Pradesh, Madhya Pradesh
(B) Bihar, Madhya Pradesh, Rajasthan, Ultarpradesh
(C) Bihar, Uttar Pradesh

(D) Bihar

Bhopal Gas tragedy is associated with leakage of:

(A) Carbon dioxide
(B) Methy! ISO cyanate
(C) Sulphur Dioxide
(D) Nitrogen dioxide

Which company has developed AKASH, the cheapest
tablet computer?

(A) 1BM

(B) HCL

(C) Datawind

(D) Lenovo
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The government of india has given ....... “languages of
the Bth Schedule” the status of official language:

(A) 23 (B) 26

(C) 24 (D) 23

Who was world biggest exporter of rice in 2012 as per
the latest report by Food & Agricuiture organization?
(A) China (B) Pakistan

(C) Thailand (D) India

The National Development Council has approved
recently the 12" five year plan and set an annual
average growth target of:

(A) 10%
(C) B2%

(E) 11%
(D) 9%

India on Oct-4, 2012 successfully test fired nuclear
capable Prithvi-ll ballistic missile from a test range at
Balasore. This was a:

(A) Air Lo Air Missile

(B) Surface to Air Missile

(C) Surface to Surface Missile

(D) Air to Surface Missile

Who was named AIFF (All India football federation)
player of the year 20127

(A) Gouramangi Singh

(R) Sunil Chhetri

(C) Syed Rahim Nabi

(D) Subrata Faul

How many gold medals were won by India at Copa
Brasil- 2012 Tournament for wrestiing?

(A) Eight (B) Nine
(C) Seven (D) Six

The Reserve bank of India has asked banks to ensure
withdrawal of Non-CTS 2010 standard cheques with
CTS standard-2010 cheques by:

(A) 30" April, 2013

(B) 31% December, 2013
(C) 31" March 2013

(D) None of these

Recently consensus on GST have been arrived by
center and states.What does GST mean?

(A) Gross Sales Tax

(B) Graded Sales Tax

(C) Global Sales tax

(D) Goods and service Tax

Who was recently elected as vice President of Indian
National Congress 7

(A) Kapil sibal

(B) Manmohan Singh

(C) P. Chidambram

(D) Rahul Gandhi
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PART-B (MATHEMATICS) Gl
Two trains leave stations P and @, 110 km apart. Train  26. AP @ QR YN g A 10 AL fFh Wy,
from P to Q travels at 25 km/hr and train from Qto P at gt & P & Q B 60 H AW 3 26 Rl s s & aE
30 km/hr. If they both start at B AM, they meet at: F T Q A P 9ET T T g9 30 BBl o g § amn
(A) 09:00 AM (B) 09:45 AM Tl 8l Hﬁﬁﬁmam,q{@?ﬁaﬁﬁ%
(C) 10:40 AM (D) None of these (A) 09:00 AM (R) 09:45 AM
(C) 10:40 AM (D) =7 & % 78

A sphere of radius x is melted and its volume is 27. T& e, P Bew x B, @ o @ O @ A
divided into two equal parts. One part is cast into 2 T A F fosier Bt Rl o 81 @6 ¢ @ 10 WAL
cylinder of height 10 cm. and second a cone of the Fai T foeeex  arn A & T gt B I A e
same height. The ratio of the cylinder radius to the TR wH g W A et A Brw 4 g @ B
cone radius is: ST g
(A 1:3 B 3:2 (A) 1:3 (B) 3.2
©) 1:43 (D) None of these © 1:43 (D) ¥ & 3%
A man buys milk at a certain price per Kg. and after 28. % s ws Rifvgd w0 9 B, W g wiem B el
mixing it with water sells it again at the same price. T T g Parst oW e 9T AeE 8 3R 98 25% #
How many grams of water he mixes in every Kg. of A S € @ 98 TS . W 3w 3 eE R ael
milk if he makes a profit of 25%: feren &
(A) 1509 (B) 30g (A) 150 1M (B) 30 M
(C) 2509 (D) 200g (C) 250 am (D) 200 7
A sum of Rs. BOOD generates Rs. 1261 as compound 29. &. 8000/- 3 a4 ¥ PP = & 1264 Sl Bt 8 &AW
interest in 3 years, interest being compounded o] TFafs & S o @ § Wi e T E:
annually. The rate of compound interest is: (A) 10% B) 5%
(A) 10% (B) 5% (C) 20% (D) 25%
(C) 20% (D) 2.5%
By how much is two-thirds of 96 less than three fifths 20 210 3 3 @ 96 m 2 e oW B
of 2107 5 3
(A) 114 (B) €2 (A) 114 (B) 62
(C) 206 (D) None of these (€) 206 (D) = | @ T
If /00000676 =.0026, the square root of 67,60,000 is: 34, I /00000576 —.0026, & 67,60,000 T FT FFM:
(A) 260 (B) 2600 (A) 260 (B) 2600
(C) 1/26 (D) 26 (C} 1/26 (D) 26
The average temperature of three days is 24°C. If the 32 @ Rl &1 Jirod AT 24°C B 4l yg & R @ e
temperature on the first two days is 20°C and 25°C U 20°C ud 25°C %, o de R o1 A B
respectively, then the temperature on the third day is: (A} 27°C (B) 24°C
(A) 27°C (B) 24°C 1¢

1 (C) 22— (D) 23°C
(C) 2 (D) 23°C 3
A fiveyear cash certificate with a maturity value of 33. U9 jaadlg =R TIPS R 9RueE g9 300 59 @
% 300 is purchased for ¥ 200. The annual rate of simple £ 200 sqT § Gl WM W AW 3 S a7 B
EhGToEtEs: iA) 10% (B) 15%

y B) 15%
(C) % ©) 7% 2
You bought some apples. On the first day you ate one and  34. A g 49 wit wd AT o o6 o 49 14 '

1/4 of the remainder. On the second day you ate 2 and 1/4
of the remainder. On the third day you ate the entire
remaining balance of 3. How many apples did you buy:

(A) 13 B) 19

(C) 9 (D) None of these
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IF the digits of a two digit number are interchanged, the
newly formed number is more than the original
number by 18. If the sum of the digits is 8, then what
was the original number?

(A) 26
(C) 35

One year ago, a mother was 4 times older than her
son. After 6 years, her age becomes more than double
her son's age by 5 years. The present ratio of their age
will be:

By 17
{D) Data inadequate

(A) 17:2 (B) 25:7

(C) 29:6 {D) Mone of these

If m:n = 2:3, What is the value of ""‘m* 5: :
5 T

@ 3 ® 3

{C) % (D) None of these

A friple successive discount of 20%, 10% and 5% is
equal to a single discount of:

(A) 31.60%
(B) 25.7%
(C) 40%
D) 35%

Three items are purchased at T 380 each. One of them

is sold at a loss of 10%. The others are sold so as to
gain 25% on the whole transaction? What is the gain %
on these two items?

(A) 42.5%
(C) 44.5%

(B) 40.5%
(D) None of these

The size of bag that could hold 6 kg of oranges has
now been increased so that it can hold 8 kg. What is
the percentage increase in size?

1 1

(A) 303% B) 335%
(C) 20% (D) 25%

w 6 '; w9 y
If T 23 and v 8 then what is the value of
=2
¥y

13 1

(A) = B =5
(C) L (D) None of these

What approximate value should come in place of
question mark (?) in the following question:

J727.9395 + (5.1961)* =7 +

10. 7960
(A) 8 {B) 10
(C) 53 (D) None of these
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IF the digits of a two digit number are interchanged, the
newly formed number is more than the original
number by 18. If the sum of the digits is 8, then what
was the original number?
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Mid points of the side of an equilateral triangle of side
18 cm are joined to form another triangle, whose mid
pointe are further joined to form a different triangie
and this process is repeated indefinitely. The sum of
the perimeters of all the triangles will be:

(A) 144 cm (B) 172 cm
(C) 72em (D) 108 ¢m

A sum of ¥ 8500 is to be divided among § men, & women and
8 boys in the ratio of 10:7:1. The share of ene boy will be:

(A) 7505 (B) Z 850
(C) 785 (D) None of these

Ram and Shyam work in the same factory. Ram can
produce 45 articles in one hour and Shyam can
produce 40 articles in one hour. During one week
Shyam worked 5 more hours than Ram but produced
the same number of articles as Ram. How many hours
did Ram work that week:

(A) 50 (B) 43
(C) 45 (D) 40
LTI I
63 3
3 1
® 3 () 55
© 1 (D) 13

Which ane of the following number has got highest value:

127 & 121
3 By ——
A ® =

53 & 25

The average score of Sachin Tendulkar in IPL 15 Matches
is 70 runs and the average score in Border Gavaskar
Trophy T-20 Matches ie 45 runs in 7 matches. If he has
played 10 more Intemational T-20 matches and his overall
average score in all T-20 Matches was 73 runs. What was
his total score in 10 International T-20 Matches:

(A) 971 {B) 982

(C) 990 (D) None of these
Number of diagonals in a 30 sided convex polygon will be:
(A) 818 (B) 378

(C) 405 {D) 955

Two cars start from place A & B, 100 km apart, towards
each cother. Both cars start simultancously. A bird
sitting on one car starts at the same time towards the
other car, and as scon as it reaches the second car, it
flies back to the first car and it continues in this
manner flying backwards and forwards from one car to
the other, until the cars meelt. Both cars travel at a
speed on 50 kmph and the bird flies at 100 kmph. Total
distance covered by the bird will be:

(A) 100 km (B) 200km
(C) 50 km (D) None of these

k-or [D—8]
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PART-C (ENGLISH)
DIRECTIONS: (Question Ne. 51 & 52) Choose the correct article.

51. lbought....... uniform for my daughter yesterday:

(A) An (B) Of (C) The (D) A
B mighty have the upper hand:
(A) An (B) A (C) One (D) The

DIRECTIONS:; (Question no. 53 & 54) Each of these questions consists of a word or phrase in capital letters followed by four words
or phrases. Select the word or phrase that is most nearly similar in meaning to the given word or phrase.

53. RAMBLE
{A) Todivide (B) To destroy everything
(C) Storm (D) To walk aboul aimlessly
54. SLOTH
{A) Laziness (B) To hitdirectly
{C) Heavy (D) Inclined
DIRECTIONS: Formulate corract sentences by selecting the most appropriate option. 12t 1"1__ a
L= ¥
55. If | were you, | ......... be careful with my words: = ﬁi
VOR 4
(A) Shall (B) Should ¥
(C) Wil (D) Would
DIRECTIONS: (Question No. 56 & 57) In the following questicns pick the correct spelt word. %\/’ffg
56. £ ‘7}\ -
(A) Typhyoid (B) Typhiod / . N
(C) Typhoid (D) Typhyiod _Lfr% > 7 ‘f
5T.
(A) Stratcher (B) Strecher
(C) Stretchar () Stretcher

DIRECTIONS: (Question No. 58 & 59) In the following guestions chouse the word opposite in meaning to the given word.
58. DIFFIDENCE:

(A) Boldness (B) Converse
(C) Weakness (D) Cleverness
59. DIVISIVE:
(A) Multiply (B) Acceptable {C) Unifying (D) Derisive

DIRECTIONS: (Question no. 60 & 51) Each of the following sentences has been broken in three parts (A), (B) and (C). If there is
any grammatical error in any of these parts, that is your answer. If there is no error, the answer is (D).

He is man ~which 1 know you can trust Noerror

g T (B) - () ' (D)

61 | shall ask him not to come on Monday as it is a working day Noerror
(A) - (B) ' () ' (D)

DIRECTIONS: Change the following sentences into reported speech.

62. Shashisaid “ | plan to leave for Australia next week™:

(A) Shashi said that he planned to leave for Australia the following week

(B) Shashitold that he had planned to leave for Austialia the following week.
(C) Shashi said that he had planned to leave for Ausiralia next week.

(D) Shashi told that he planned to leave for Australia next week.
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DIRECTIONS: (Gue. No. 63 to 63) Choose the correct option.

63. Thetree lost........ leaves.

{A) Their (B) Our

(C) They o) -Its
B4. The snake crawled ........ the rock.

(&) Under (B) At

(C) With (D) After
65. Can you ...« a picture?

(A) Fry (B) Stay

(C) Ride (D) Draw
66. My mother ........ us to schoal in our car.

{ﬁl} Walks {B] Goes

(C) Rides (D) Drives
67. Tom is awake but jack is still .......0

{A) Eating {B) Reading

(C) Asleep (D) Crying
€8. The kangaroos ....... over the fence.

(A} Crawled (8) Hopped

(C) Swam (D) Licked
69. Yesterday our team ....... the team of Ramjus Schoal.

(A) Is defeating
{C) Was defeated

(B) Wil defeat
(D) Deleated

DIRECTIONS: (Question No. 70 to 72) Fill in the biank with correct preposition.

70. The thief entered the room ............ the window:
{A) Through (B) With
(C) From (D) By

71. My car does forty kilometers .......... @ litre:
(A) For (B) Of
(C) In (D) To

TEL anasenis cooking, he also likes to write poetry in his free time:
(A) Except (B) While
(C) Beside (D) Besides

DIRECTIONS: (Questicn No. 73 & 74) Give cne word for the underlined phrase

73. My bedroom is warm and comfortabie.

(A) Cosy
(C) Neat
74. Diana spoke in a guiet voice to her friend.
(&) Jumped
() Yelled

(B) Beautiful
(D) Untidy

(B) Called
(D) Whispered

DIRECTIONS: Choose the correct passive voice of the sentence given in the questicn.

75. There is no house to let:

(A) There is no house which could be let
(B) There is no house for letting out

(C) There is no house to be let

(D) No house is there to let

k-7 [D=10]
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75.

TT.

78.

79,

PART-D (REASONING AND ANALYTICAL ABILITY)

In the given dice, which number is opposite of number &:
-] 5
4 K 6 4
6 5
2 [* 1 |2
(A) 2 B) 3
€ 1 (D) 5

Beena is the mother of Chirag and Mihika. If Kapil is
the husband of Mihika. What is the relation of Beena to
Kapil?

(A} Daughter

(B) Maother

(C) Sister in law #

(D) Mother in law

Ajay travels towards East. Vikas travels towards North.
Sonu and ‘Rachit travel in opposite directions.
‘Rachit’ travels towards right of Ajay. Which of the
following is definitely true?

(A) Vikas and Sonu travel in opposite directions
(B) Sonu travels towards West

{C) Rachit travels towards Neorth

(D) Vikas and Sonu travel in the same direction

In a certain code language LESSON is coded as
NGUQML. How will PUZZLE be coded in that code
language?

(A) RWXBJP ’

(B) RVBXJC ¥

(C) RWBXJC

(D) RUBJXC

INSTRUCTIONS: (Question No. 80 & 81) Study the following
information and answer the question given belew it.

80.

B1.

Keamal, Gopal ard Hari are Intelligent..
Kamal, Ravi and Jai_are hard working. -
Ravi, Hari and Jai are honest.

Kamal, Gopal and Jai are ambitious.

o0 oD

Which of the following persons is neither hard working
nor ambitious:

(A) Kamal
(B) Gopal
(C) Hari
(D) Ravi

Which of the following persons is neither honest nor
hard working but is ambitious:

(A) Gopal

{B) Ravi

(C) Hari/

(D) Jai
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76.

7r.

78.

79.

R m o@ # 6 3 Rohy S=-9 ¥ i

1 5

s 12 c |4

5 6

2 |4 3 |2
(A) 2 (B) 3
) 1 (D) 5

& Ry o Bife @t Trn &) 4R e BRw & of @
a & 3 3fte A T =

(A) gl

(B) wrr

(C) wmi

(D) #H

o RE S a6 AT B0 B [ SEY B A AR
a1 ¥ 9 @ e Rl R 3§ aen s § W e
3 IRy ars am sw@ ¢ Pl #§ & Se-a fiea &9
A e &

(A) R wd dr BT R § aEn w9 8

(B) BF ofFEm Ram ¥ A= FA @

(C) T oY B § Amy S &

(D) fapr wd Wi uE & R § aEn HE 6

5 Fifiga $i 91 3 LESSON $ NGUQML & Fifsa
@ & & o0 3 W § PUZZLE 91 39 JI® ]

(A) RWXBJP
(8) RVBXJC
(C) RWBXJC
(D) RUBJXC

Fdar (so @em 80 wd 81) 41 & T FET A WH W W
it 9w & T <

£0.

81.

e, e, s4 e ¥
4w, e ot o st €
M|, &0 AR 99 e §
e, M ST T AEeEn &

frt & i afF 9 & deadt € el 9 & wEasiEt §:

(A) FHE
(B) 7@
() &
D) 19

apoo

frw ¥ ¥ &fs 7 O e ® ot T & el @ alE
qEETmiEl o

(A T

(B) T4

(c) =&

(D) &



DIRECTIONS: (Question no. 82 & 83) Each of the following
questions is foliowed by two statements. Select the choice as

follows.
A, If | slone is encugh to answer the question
B. If Il alore is enough to answer the gquestion
C. If1 & li are both required to answer the question
D. If both 1 & Il zre insufficient to answer the question and
more data is required.
82, How many Indian can be considered to be in super

83.

84.

85.

rich bracket rich bracket if they constitute 0.001% of
the population:

Conclusion:

. In the last census, the population was 93 crores.

IIl. Since the last census the population has increased by
14%.

A A

€ C

{B) B
(0) D

At the garage, the car owner was told that adjustments
has been done and it will now give better kilometerage.
Did itimprove if:

Conclusion:

|. Before repairs it travelled 120 km. in 10 litres of fuel.
Il. After repairs it ran 240 km. on full tank

(A) A (B) B

(C) C (D) D

If ROAD = 152 and MAP = 90, then RAIL = ?
(&) 120

(B) 140

(C) 160

(D) 180

If BAT = €9 and BOOK = 172, then PEN = ?
(A) 86

(B) 105

(C) 144

(D) 183

DIRECTIONS: (Question No. 36 & 87) in these queslicns, a
series is given which may consist of numbers, alphabets or a
mixture of both. You have to identify from the choices given

against each question, the nexi term in the series in the place of

guestion mark.

B6.

87.

QPO, SRQ, UTS, WVU, 7
(A) AVZ
(B) ZYA
(C) YXW
(D) VWX

T 3 “ s
P3C, R5F, T8I, V12L, ?
(A)y Y170
(B) X17M
{C) X170
(D) X160

k-or [D—12]

ﬁia:(mﬁ@taznﬁes}nﬂﬂsqﬁ%az&swﬁrﬁ%
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8z.

83.

84.

B85.
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Al & e ©

o Wi oRETRE ¥de T 7 w1 e § AR 3 e
= 0.001% &:

Frree:

|, FrE SR § SEeen 98 FUE Al

L SR S 14% S8 9 8

(A) A

(B) B

€

(D) D

T X, T AR @ Fan T e K § g Y R
T 3 oix 99 7 sreEr PyerieT oftwm i gl @i gEn
g AR

fore:

| wew & @ @E 120 AR, 10 T {9 A =

1. TOE ® SUOe a8 240 Bl T O § 9

A A e B

€) C @) D

af ROAD =152 3fT MAP =90, & RAIL= 7
Ay 120
(B) 140D
(C) 160
(D) 180
a7 BAT = 69 @it BOOK =172, & PEN=7?
(A) 66
(B) 105
(C) 144
(D) 183
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ﬁ??ﬁ(ﬂﬁﬁﬂﬂﬁﬁﬁﬂﬁﬂfﬁmﬁﬂﬁﬁ,ﬁ%@ﬁﬁ'ﬁ%
Foa® Head ot ar A B B E oM A IR weE § fog e
o faedl @ W%Wmﬁmmﬁﬁw%

86.

a87.

QPO, SRQ, UTS, WVU, 1

(A) XVZ
(B) ZYA
(C) YXW
(D) VWX

P3C, R5F, T8I, V12L, 1

(A) Y170
(B) X17M
(C) X170
(D) X160



DIRECTIONS: (Question No. 88 tc 91) The following questians
are to be answered on the basis of information given below.

The is a group of § persons : A, B, C, D and E. In the group,
there is a Professar of Philosophy, a prafessor of Psychology
and a Professor of Economics. A and D are ladies who have no
speciglisation in any subjsct and are unmarried. No lady is
philosepher or an Economist. There is a married couple in the
group of which E is the husband. B is the brother of C and is
neither psychologist nor an Economist,

38. Who is the wife of E?
A) A
B) B
c) C
(D} D

89. Which of the following groups includes all the men?
{A) ABC
(B) BCD
{C) BC
(D) BE

80. Who is the professor of philosophy?
A A
B) B
29
Dy D

91. Who is the Professor of Economics?
A B

B E
(C) D
(D) C

DIRECTIONS: (Question Nos. 92 to 94) Pick the odd one out.

92.

(A) Kitchen
(B) Bathroom
(C) Bedroom
(D) Floor

93

(A) Hear
(B) Smell
(C) See
(D) Tak

94.

(A) Head
(B) Heart
(C) Lung
(D) Kidney

PR {mﬁwasﬁm)f‘ﬁ%ﬁauﬁﬂwﬁqw
& ST 9 3 B

Vg @fsdl W O M £ : A, B, C.D W E §EH A @&
TR D ABAL §, Th ARG F T G T A @D
ofeemd & Ree fedl Rwa ¥ Rftea a8 @ o afiafa B B8
G e A adweed @ ool 9 & oyl wpEE A @
Friee ST ¥ P oft ‘B’ B ‘B’ C @ ui ? afew aeiaee
Tl & ol 7 # aeiwweh B

88. ‘E' # Tl B &
A A
B) B
(Cy C
D) D
89. Previea e wEa f aft 7= &
(A) ABC
(B) BCD
(C) BC
(D) BE
90. Y9 3 MOW A B
(A) A
(B) B
©) G
(D) D
91. oEuE B NPT BA &
(A) B
(B) E
(C) D
(D) C

e (ve g 92 & o4) Frafafaa # & srdm@ A g
92.

(A) TEE-TE

(B) -7

(C) TaF-F4

(D) wsl

93.

(A) G
(B) |
(C) =&

(D) ITEE HCA
94,

Ay Fax
(B) &4
(C) wwsT

(D) T&
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95.

96.

Madho walks 30 meters towards East, Then he turns to
his right and walks 20 meters. Then again turning to
his right he walks 30 meters. How far and in which
direction is he from his original position:

(A) 20 meters, North

(B) 50 meters, South

(C) 10 meters, West

(D) None of these

Six firemen are placed in a circle facing the centre of a
circle to extinguish fire in the middie of the circle. A is
between B and C, D is between E and F. E is to the
immediate left of C. Who is to the immediate right of B:
(A) E

(B) A

() F

(D) None of these

INSTRUCTIONS: (Question No. 97 to 99) In the following
diagram three classes of population are represented by three
figures. The triangle represents the school teachers, the square
represents the married persons and the circle represents the
persons living in joint families.

97.

98.

99.

100.

F

£

A

Married persons living in joint families but not working
as school teachers are represented by:

(A C (B) D

(C) A (D) B

Persons who live in joint families, are unmarried and
who do not work as school teachers are represented
by:

(A C

(B) B

(C) E

(0)y D

Married teachers in families

represented by:
(A) B

®) C

€) A

(D) None of these

living joint are

If KOLKATA is coded as LPMLBUB then MUMBAI can
be coded as:

(A) NVODBJ
(8) PVQDEI
(C) LOLBAI
(D) NVNCBJ

k-07 [D—-14]

95.

96.
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(A) 20 HieY IT
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98.

89.

100.

F
ok
D
A
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(A) C (B) D

(C) A (D) B
%mﬁﬁﬁﬁgﬁqﬁﬁﬂﬁﬁﬁﬁaﬂtaﬁaﬁﬁﬁ.ﬁﬁﬁﬁ@
oS w8 E, 32 weRia s &

(A) C

(B) B

(C) E

(D) D

R sters Sifs 3w wRad # e ¥, B ik s
-

(A) B
(B) C
C) A

(D) &8 & HE T

af¥ KOLKATA @ §g LPMLBUB & d MUMBAI %I %g
B

(A) NVODBJ
(B) PVQDEI
(C) LOLBAI
(D) NVNCBJ
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